October 2018 #19

Given three positive integers a, b, and ¢,
such that a? + [? = 2. Prove that

(2a+b+2c) + (a+2b+20) =
(2a + 2b + 3¢)2

(2a.+0 +20) " + (0¥ +2D)% =

(4a% +bZ+4c® + Uab + Rac +qbc_>

+ (0 +4b? +49c% + Hob + Hoc -\-gbc.)

= ('—\a"' +ip? 4+ (a2+0%) +Rc® +Bab + \Zoc + '\Lbc.)

)

(L]o.z +b? + c? +Rc% ¥ Rob Lo -H’Lbc)
April 2014 #12

(4ol +4p% + e + Rob +12ec + 12b0)
If = {26 +2p+ 3@2'

f(x) =x+bx +c,

ol FWH=9 = 1%2+b0)+cC
f@3)-f(2)=8, 9= I+b+C
find f(4). F(3) = Q430 +C ) =U +2hre
q+30 +C - (4+2p+C) =8
LD =%+ 32X +5 S +p =%
b =3
$(1) = b +12 +5 |
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September 2014 #14

Find the sum of the solutions to the equation 3(32") —28(3%) =- 9. ~fdes-acalculatorinthe-finak
stopd y = 2

473 471
3 -~ 28 +O] =0
(38 '\)(% - q) =O l‘x-a :_L_____*.ii-z;«—‘
October 2014 #13
Solve the following system of equations:
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5 -2 . == 3
X+ -}-2 14
- 3
xi‘:\+5/5 3= B/3X + /2 - =3y -G
4+ 3 323
3= Y3 (x40 )’j_‘*:—; f-1=
Math Team Oct 2017 #3 & l

If p*¢=(p-g)p+q) and PAg=(p+g)'~2pq, find (3 * 4)3 4 4),
3x4 = (3-9)(s+)

384 = 3+ —2(HD)
- _." - qq - 2"‘
= 25
-1 (29
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